SAP ABAP table VZZKOKO {Table condition header}
VZZKOKO-SANGVOR = ATRESERVATION-SANGVOR ATRESERVATION

MANDT [CLNT (3)]
SANGVOR [NUMC (2)]

. TOO0O
MANDT [CLNT (3)]

TOO1
_____________ 1 | MANDT [CLNT (3)]
BUKRS [CHAR (4)]

TCURC

71 |MANDT [CLNT (3)]
WAERS [CUKY (5)]

TDO4

MANDT [CLNT (3)]
SKUEND [NUMC (3)]

TD13

MANDT [CLNT (3)]

SANNAHME [NUMC (2)]

TD27

MANDT [CLNT (3)]
SKUEART [NUMC (3)]

TD28

MANDT [CLNT (3)]
SKUEGL [NUMC (3)]

TD29

MANDT [CLNT (3)]
SKUEDN [NUMC (3)]

TDSOZ

MANDT [CLNT (3)]
0..N [sZKZ [CHAR (1)]




